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Match #34


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
For the last few decades of this dynasty, the Dowager Empress Cixi (tsee-shee) was the power behind the throne. It was unable to defeat the British in two Opium Wars and needed British help to defeat the Taiping rebellion. It was replaced in 1912 by a Republic led by Sun Yat-sen. Between 1636 and 1912, what dynasty ruled China?

ANSWER: Manchu or Qing (ching) Dynasty

2.
He wrote Biographia Literaria, an autobiography in which he describes his opium addiction. He worked with his friend William Wordsworth on the poetry collection Lyrical Ballads. Who wrote the lines, ‘A stately pleasure-dome decree’ and ‘I shot the Albatross’ in his poems, ‘Kubla Khan’ and ‘Rime of the Ancient Mariner?’
ANSWER: Samuel Taylor Coleridge
3.
Charles Alderton invented this drink in Waco, Texas, in 1885, and named it for a resident of Rural Retreat, Virginia. 1930s advertising encouraged drinkers to have one at 10, 2, and 4. In the 1980s, it was taken private by a group that also bought Seven-Up. It actually doesn’t have a period in the name; that was dropped in the 1950s to ensure that people didn’t make any medical associations with it. What soft drink has 23 ingredients? 

ANSWER: Dr Pepper 

4.
Types of it include riebeckite, amosite, and chrysotile.  Charlemagne had a tablecloth made of it that he cleaned by throwing it into the fire. It used to be used in brake pads, insulation, caulk, and fire blankets.  Name this mineral that is fire-resistant but is rarely used anymore due to inhalation of its fibers causing lung cancer.

ANSWER: asbestos
5.
Its scientific name is Ananas comosus and it is a perennial herbaceous plant native to South America.  Bat-pollinated ones open their flowers at night and close them at day to avoid weevils.  Cultivars of it include Red Spanish, Natal Queen, Smooth Cayenne, and Kona Sugarloaf.  Name this tropical fruit that often has large spines and is associated with Hawai’i.

ANSWER: pineapple(s)
6.
This hypothetical particle is said to be a massless boson that has no electric charge, a stable lifetime, and a spin of two.  String theory models them as closed strings in a very low-energy vibrational state.  Due to the extremely low cross section of their interaction with matter, it is virtually impossible to detect them.  Name this particle that is said to mediate the force of gravity.

ANSWER: graviton
7.
He led a force of 500 militiamen against the previously-neutral Doeg and Pamunkey tribes. Only his death from dysentery prevented open civil war against England after he seized power and burned Jamestown to the ground. Who led a rebellion against Royal Governor William Berkeley (bark-lee) in 1676 for control of Virginia? 

ANSWER: Nathaniel Bacon
8.
Prior to his current post, he served as Chancellor of the Exchequer for ten years, taking office when John Major was defeated.  Who also assumed leadership of the Labour Party when he replaced Tony Blair as Prime Minister of the United Kingdom?

ANSWER: Gordon Brown
9.
The Spanish believe it is in Valencia Cathedral. However, Robert de Boron said that Joseph of Arimathea sent it to Great Britain. Bors the Younger, Percival, and Galahad were the only knights virtuous enough to drink from it. What object, in Arthurian myth, was the cup Jesus Christ drank from at the Last Supper? 

ANSWER: the Holy Grail

10.
In the “British” musical notation, it is known as a “semibreve.” A rest of equal duration is represented by a rectangle hanging below the second line of the staff. What note occurs when a hollow note head appears with no stem, and is equal to in length to four quarter notes? 

ANSWER: whole note

11.
He brought plagues, blindness, and scabs to mankind, perhaps to spread the pain a bit as he flayed himself to bring growth to nature and humanity. Once he flayed himself, he became a golden god and went around wearing his own skin. Every spring, humans were sacrificed to him, and the priests wore the skins of the slain. Who was this agriculture god of Aztec mythology? 

ANSWER: Xipe Totec (shih-pay toh-tek)

12.
After she married, she moved from Belle-Reve plantation to a two-room flat on Elysian Fields Avenue in New Orleans, with Steve and Eunice as her upstairs neighbors. After her husband raped her sister, she sent her sister to a sanitarium. Who was the sister of Blanche DuBois and wife of Stanley Kowalski in A Streetcar Named Desire? 
ANSWER: Stella Kowalski 

13.
He was the leader of the Salò Republic for two years. The Lateran Treaties limited Roman Catholic opposition to his rule. The disaster at Tarento nullified his navy, and failed invasions of Greece and France displayed his army’s shortcomings. 1922’s ‘March on Rome’ put in power what leader of Fascist Italy? 
ANSWER: Benito Mussolini
14.
THIS IS A COMPUTATION QUESTION. The positive square root of 2000 is between what two integers, given that 1936 and 2025 are perfect squares?

ANSWER: 44 and 45
15.
In the United States, they are the source of more than 90% of carbon dioxide emissions.  Sweden has announced a plan to phase out their use, through a combination of teleworking incentives, energy efficient construction and nuclear and hydroelectric energy.  What is this energy source, primarily used to describe hydrocarbon fuels like petroleum and coal that have a biological origin?

ANSWER: fossil fuels

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What word describes those who Calvinists believe are chosen for salvation or, outside of religion, to select someone for office by voting?

ANSWER: elect (accept word forms)

1B.
What “King of the Monsters” was awakened by an American hydrogen bomb test and weighed in at 160 feet tall and 22,000 tons? 

ANSWER: Godzilla or Gojira

2A.
Who lost the 1984 presidential election to Ronald Reagan? 

ANSWER: Walter Mondale
2B.
THIS IS A COMPUTATION QUESTION. What two numbers repeated make up the decimal form of 3/11?

ANSWER: 27
3A.
What is the scientific term for nearsightedness?

ANSWER: myopia
3B.
The O2 is now the official name of what London landmark that, as its name implies, hosted a major exhibition from January 1 to December 31, 2000?

ANSWER: Millenium Dome

4A.
THIS IS A COMPUTATION QUESTION. What is the prime factorization of 330?

ANSWER: 2, 3, 5, 11
4B.
What does SARS stand for?

ANSWER: severe acute respiratory syndrome
5A.
Attorney General Bob McDonnell has been involved in a very public legal fight with what New York City mayor over illegal interstate gun sales?

ANSWER: Michael Bloomberg
5B.
The Stage Manager is a resident of what fictional town, the setting for Thornton Wilder’s Our Town? 
ANSWER: Grover’s Corners, New Hampshire

6A.
THIS IS A COMPUTATION QUESTION. If x = 7 when y = 11 and maintains that ratio, what does y equal when x = 84?

ANSWER: y equals 132
6B.
What letter is used to represent Planck’s constant?

ANSWER: h
7A.
He allegedly ended the great plague of Athens by lighting fires to disinfect, but what “Father of Clinical Medicine” is better known for his Oath?

ANSWER: Hippocrates
7B.
Write down the following sentence. (Quizmaster: speak slowly) “When my girlfriend broke up with me, my cousin Dave was very supportive.” (Quizmaster: speak normally) What noun is the subject of that sentence?

ANSWER: (my cousin) Dave
8A.
‘The mirror crack’d from side to side’ is a line marking the death of the title character in what Tennyson poem? 

ANSWER: “The Lady of Shalott”

8B.
The inventor of the instrumental ballade was what composer of the Revolutionary Etude and the Minute Waltz? 

ANSWER: Frédéric Chopin
9A.
Who won the battle of Bannockburn in 1314 and thus became king of an independent Scotland? 

ANSWER: Robert the Bruce
9B.
The top of American paper money contains what three words that indicate it as not redeemable in specie, and is issued by the United States’ central bank?

ANSWER: Federal Reserve Note(s)

10A.
The Old Guitarist is from what period, lasting from 1900 to 1904, which is distinguished by Pablo Picasso using darker tones? 

ANSWER: Blue period

10B.
THIS IS A COMPUTATION QUESTION. In what quadrant is the point (4, 76)?

ANSWER: first
Third period, 15 toss-ups, 10 points each

1.
In order for it to exist, the dimensions must be square and the determinant must be non-zero.  It is symbolized with a superscript minus one.  For a two-by-two matrix a, b, c, d, it equals d, minus b, minus c, a, with all terms divided by the determinant.  Name this type of matrix which when multiplied with another matrix produces the identity matrix.

ANSWER: inverse
2.
This series of books, written by Zerna Sharp, was re-released in 2003, but Grosset & Dunlap cautioned against using it for educational purposes. Rudolf Fleisch criticized its ‘whole word’ reading technique in Why Johnny Can’t Read. Phrases such as ‘See Spot run!’ were contained in what mid 20th century children’s reading series?
ANSWER: Dick and Jane
3.
Both Hugh Jackman and Clive Owen auditioned for the leading role in this film. It starred Mads Mikkelsen as the lead antagonist, whose name translates as ‘The Cypher,’ and who also suffers from haemolacria (hemo-lak-ree-uh), or ‘bloody tears.’  The first of Ian Fleming's novels about an MI6 agent was made into what 2006 movie, featuring Daniel Craig with a license to kill?


ANSWER: Casino Royale
4.
This city was nearly destroyed by the Nika riots of 532, was damaged by two Iconoclast controversies, was sacked in 1204 by fellow Christians during the Fourth Crusade, and was conquered in 1453 by the Ottoman Empire. What city, built in 330 AD near the ruins of Byzantium, was renamed Istanbul in 1453? 

ANSWER: Constantinople (prompt on Istanbul before it is said in the question)

5.
Referred to in the Bible as brimstone, it is found in the amino acids cysteine and methionine and is used in fungicides, gunpowder, fertilizers, and Epsom salts.  It is a yellow crystalline solid with an atomic mass of 32.  Name this nonmetallic element with atomic number 16 and symbol S.

ANSWER: sulfur
6.
Subplots in this novel include Tim Linkinwater and Miss La Creevy’s romance and the will of Madeline Bray’s grandmother. The title character beats Wackford Squeers after Wackford whips the crippled Smike. The title character takes care of his mother and sister Kate, and is opposed by his uncle Ralph, in what novel by Charles Dickens?

ANSWER: The Life and Adventures of Nicholas Nickleby
7.
Using an encoding standard of 8B/10B, the same as Ethernet, fiber optics, and PCI Express, it currently has a transfer rate of 3 gigabits per second. The cable for a drive uses a 7 pin connector while the power connector uses a 15 pin connection. Name this successor to the legacy connection Advanced Technology Attachment.  

ANSWER: Serial ATA or Serial Advanced Technology Attachment or SATA II (prompt on Advanced Technology Attachment or ATA)
8.
Weird Al parodied this band’s first number one modern rock single in ‘Bedrock Anthem.’ They have the record for the most number one modern rock singles. Their 1999 album saw the departure of Dave Navarro along with three number one singles, including the title track, Californication. In 2006, what band, whose bassist is Flea, released Stadium Arcadium, including the single ‘Dani California?’
ANSWER: Red Hot Chili Peppers
9.
It is an offensive term for an Aboriginal Australian woman. It is also a card game for two players, in which each player has ten cards and tries to get her or his ‘deadwood’ under 10 points. The ‘London dry’ is the most popular type of the alcoholic drink with this name, made from flavoring grain spirits with juniper berries. What word also means to pull seeds from cotton fibers, or the machine for that task invented by Eli Whitney?

ANSWER: gin (the card game is gin rummy)

10.
This word refers to a now-discredited diagnosis given to women before the 19th century; the ancient Greeks attributed it to a wandering uterus in search of children. It also refers to a state of panic among the masses, especially in response to a new disease or perceived threat. What word refers to a massive, disabling fear?

ANSWER: hysteria
11.
This leader of the ‘British Band’ returned to his home village of Saukenok, sparking a war with the U.S. His power was permanently broken at the Battle of Bad Axe, forcing him to leave Illinois forever. What chief of the Sauk and Fox tribes was the namesake for a war fought in 1832? 

ANSWER: Black Hawk or Ma-ka-tai-me-she-ki-a-ki-ak
12.
Officially known as Gallus gallus, there are more than 24 billion of them alive.  Castrated males are known as capons and young females are called pullets.  Breeds of them include Dorking, Silkie, Cornish, Leghorn, and Rhode Island Red.  Name this type of fowl that is the C in KFC.

ANSWER: chicken
13.
The Eastern Orthodox one has three horizontal bars: one of which represents St. Dismas and the unrepentant Gestas, a second of which has the letters ‘INRI,’ and a third that has a dying body across it. Some Protestant churches will have an ‘empty’ one, representing the triumph of Christ. What religious objects represent the dying Christ? 
ANSWER: crucifix (prompt on ‘the cross’)
14.
He has a myna bird named Uncle Feather and a little sister named Tamara, or ‘Tootsie.’ According to his brother Peter Hatcher, he is the biggest pain ever invented. He first appeared in Tales of a Fourth Grade Nothing. Farley Drexel Hatcher is the real name of what character, the focus of five books by Judy Bloom? 

ANSWER: (Super)Fudge
15.
In 1963, this city formed a consolidated government with surrounding Davidson County. Its planned Signature Tower will be one of the world’s twenty tallest buildings. A replica of the Parthenon and the Ryman Auditorium are in this city on the Cumberland River. What city, known as ‘Music City, U.S.A,’ is the capital of Tennessee? 

ANSWER: Nashville, Tennessee

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This period that began about 540 million years ago saw the appearance of more than 50 phyla of animals, in an event called the ‘explosion,’ though it also saw four mass extinctions.  The appearance of many invertebrates and early chordates, including trilobites, marked what period, the first of the Paleozoic era?

ANSWER: Cambrian Period

2.
He had a confirmed affair with Carrie Fulton Phillips and an alleged affair with Nan Britton. The first sitting Senator to be elected President, he defeated James Cox with a promise to ‘return to normalcy.’ However, Teapot Dome and other scandals tarnished the presidency of what man who died in 1923 and was replaced by Calvin Coolidge? 
ANSWER: Warren G. Harding
3.
The first of his four Academy Awards for Best Director was for 1935’s Informer. He lost in 1939 with Stagecoach, but won again in 1940 for The Grapes of Wrath, in 1941 for How Green Was My Valley, and in 1952 for The Quiet Man. What director, mostly of Western movies, made 20 film with John Wayne? 
ANSWER: John Ford or John ‘Jack’ Feeney
4.
The past tense of nearly all verbs in this language is formed by putting the word ‘het’ before the past participle. This is an example of how its grammar became more regular after exposure to Bantu and Malay languages, although a few scholars believe the Khoisan people were the ‘inventors’ of this language. What language, once known as ‘Cape Dutch,’ is spoken by 60% of South Africa’s Whites? 

ANSWER: Afrikaans (accept ‘Cape Dutch’ before it appears in the question)
5.
THIS IS A COMPUTATION QUESTION. How many diagonals does a hexagon have, given that the formula is n ((n – 3) / 2) (read as: n times the fraction n minus 3 over 2), where n is the number of sides?

ANSWER: nine
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